Homework — Due Tomorrow
Test #3 — Next Tuesday - Test Review Sheet is up to you!

Aim: To what extent was the USA
successful in implementing
containment in Korea?

Do Now: Was the US policy of containment
successful in Europe from 1947-1949°7

(Hint: Think of Truman Doctrine, Marshall Plan,
and Berlin Airlift)




Cold War Alliances
e USA forms NATO in 1949 (Atlas pg. 95 top)
* North Atlantic Treaty Organization

WHY?

The North Atlantic Treaty — Charter [Agreement]

The Parties to this Treaty reaffirm their faith in the purposes
and principles of the Charter of the United Nations and their
desire to live in peace with all peoples and all governments.
They are determined to safequard the freedom, common
heritage and civilisation of their peoples, founded on the
principles of democracy, individual liberty and the rule of
law. They seek to promote stability and well-being in the
North Atlantic area. They are resolved to unite their efforts
for collective defence and for the preservation of peace and
security. They therefore agree to this North Atlantic Treaty...




What was significant about NATO?
Article 5

The Parties agree that an armed attack against one or more of
them in Europe or North America shall be considered an attack
against them all and consequently they agree that, if such an
armed attack occurs, each of them, in exercise of the right of
individual or collective self-defence recognised by Article 51 of
the Charter of the United Nations, will assist the Party or
Parties so attacked by taking forthwith, individually and in
concert with the other Parties, such action as it deems
necessary, including the use of armed force, to restore and
maintain the security of the North Atlantic area.

What does this remind you of?
Can the USA ever be neutral or isolated again? Explain.



Cold War Alliances (cont’d)

USSR forms the Warsaw Pact in 1954 (atias pg. 95 top)
WHY?

In response to West Germany’s admittance to NATO
How did the Soviets feel about it?

Threatened!

Is the WORLD divided now?

YOU BET! ®




Cold War Gets Hot

(Atlas pgs. 92-93)

Why? China

(communist)

Korea divided in 1945
into occupation zones

North = USSR, South = US
Why divided?

Former Japanese colony
that’s now “Free”

1948 — 1949: the USA and
USSR leave Korea




Causes for the Korean War

(Atlas pgs. 92-93)

North Korea dominated by communists

South Korea dominated by democratic-capitalists
Start of War?

North invades South in 1950

What is this?

A CIVIL WAR!

So how did the USSR and USA get involved?




Events of the Korean War

(Atlas pgs. 92-93)

USSR gave approval to N.K. for invasion

China joins N.K. later to defend communism

USA sends support to S.K. via the United Nations
Why?

CONTAINMENT!

Proxy War = USSR and USA never fought directly!
Back and forth until stalemate

What ends the war?

An armistice in 1953 — Korea divided along the
38t parallel — FOREVER!




The Korean War
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What is the main idea?




Should the US have intervened in

the Korean War?
* Create a T-Chart in your notebook.

Reasons supporting US Reasons opposing US
Intervention in Korea Intervention in Korea

* Read through the documents and with the help
of your partner record reasons supporting and
opposing US intervention in Korea.



Final Summary

* Answer today’s Aim Question in your notebook.

e Cite information from the notes, atlas,
documents, and reading from homework.



